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Note: All questions are compulsory. Carrying of mobile phone during exammatzons Wil be
treated as case of unfair means. Attempt all the questions in sequence.

1. Can Newton’s rings be formed by using two plano convex lenses? IFye§ explam how if
No then why? Newton’s rings are observed by placing water be:f\veen thé plate and lens.
The diameter of the 8th ring is 3.8 mm. If the system is 1llgmgnaied by ,NeL hght of 589.3
nm the radius of the curvature of the planc-convex lens 1§ | t calqu}ate the refractive
index of water. e [3+2]

2. A diffraction grating used at normal incidence g1ves a yellew lifte (600 nm) in a certain
spectral order superlmposed on a blue line (480 nm)""‘"' P,hlgher order If the angle of

.x;‘;‘;

s through “a-tube at a steady speed of 2 mm/sec. If the liquid in the tube has a
' -._4 x 10 * kg per cubic meter. What is its Viscosity
(3+2]
. Qescr1be the ﬂow of blood in a human body. A Pitot tube is being used for measuring the
. ‘eioglty of blood flow. Calculate the blood velocity if the manometer records a pressure
0 _O 25 mm of Hg. Density of blood is 1020 kg per cubic meter.
[3+2]
7. With suitable diagram explain what is the importance of contact angle in surface tension?
A capillary tube when immersed vertically in a liquid records a rise of 3 cm. If the tube is
immersed in the liquid at an angle of 60° with the vertical, calculate the length of the

liquid column along the tube.
[3+21]



